
EE 327 Signals and Systems 1 
Homework 4 

 
1. Use the definition of the Laplace transform to prove that 
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2. Use the definition of the Laplace transform to prove that  
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3. Find the Laplace transform of the following continuous-time signals.   
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4. Find the following Laplace transforms.  Assume all initial conditions are zero.   

a. 






 − tet

dt

d
L 32  

b. 



















 2
3

t
dt

d
L  

c. ( ){ }tettL 53 13 −+−  
 

5. Find the inverse Laplace transform of  
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6. Find the inverse Laplace transform of  
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7. Find the inverse Laplace transform of  
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